Count in 10s w® 7 Y

1 Use a 0-100 bead string to help you count in 10s. Cut and stick your answers.
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Count in 10s w® 7 Y

1 Complete the sentences.

a
There are apples on each tree.
There are trees.
There are apples altogether.
b .
There are balloons in each bunch.
There are bunches.
There are balloons altogether.
C AALLALLAAL BARAALLAAL BARAAL ALY
IIIII III “III III “III III There are pencils in each pack.
DANANAZANL AAARAALANA RAAAAALAAL There are _____ packs.
IIIII III IIIII III IIIII III There are pencils altogether.
d . .
C O O DO > There are marbles in each jar.
There are jars.
There are marbles altogether.
e
There are cupcakes on each plate.
There are plates.
There are cupcakes altogether.
- , W There are fish in the tank.
- 12)3 S
o . .
. > N There is tank.
7 39 .
RIS There are fish altogether.
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1 Use a 0-100 bead string to help you count in 10s. Cut and stick your answers.

50 80 20 60
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Complete the sentences.
a ALVARLAAAL ARARAALAAL BARLARLARL DARAALLALL
BAAARALARD DRAARALAAL DRAARALAAL Thereare ____ packs.
IIIIl III IIIII III IIIII III There are pencils altogether.
b
There are cupcakes on each plate.
There are plates.
There are cupcakes altogether.
C ay 3 » e Wy B » e Wy B » 1 ) .
w T w0 T w o T There are fish in the tanks.
There are tanks.
R I} T | There are fish altogether.
d
There are apples on each tree.
There are trees.
There are apples altogether.
e .
There are balloons in each bunch.
There are bunches.
There are balloons altogether.
There are marbles in each jar.
There are jars.
There are marbles altogether.
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1 Count up in 10s. Cut and stick your answers in the correct place.

20 50 80 100 60

_________ T e |

10 30 70 40 90
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Count in 10s * W W

1 Complete the sentences.

’ There are cupcakes on each plate.
There are plates.
There are cupcakes altogether.
b
There are balloons in each bunch.
There are bunches.
There are balloons altogether.
C
There are apples on each tree.
There are trees.
There are apples altogether.
d 12 B o & 1y B g & 1y 2
There are ______ fish in the tanks.
— — — There are tanks.
g . g 1 There are fish altogether.
e
There are 10 marbles in each jar.
There are 5 jars.
There are 50 marbles altogether.
S There are 10 pencils in each pack.
There are 4 packs.
There are 40 pencils altogether.
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Problem solving and reasoning cards:

I am counting in tens to
50. The digit in the tens

‘ . column is the same as
the number of tens in

that number.

There are 4 apples on each tree.

There are 40 apples altogether.
Is Ben correct?

True or false?

|
|
|
|
|
|
|
|
|
There are 10 trees. :
|
|
|
|
: Explain your answer and provide an
|
|

Explain your answer. example.
________________________ _Il________________________.
Dom is counting in 10s. | Colour the mistakes on the number track.
He starts at 10. |
Use a number line to help you find: :
11 30 | 40 | 60| 50| 70 | 80
What is the 3" number? :
|
What is the 5" number? : Explain the mistakes.
|
. |
What is the 8™ number? | Draw the number track in the correct order.
|
What is the 7t number? :
|
What is the 9" number? :
________________________ =
Draw a number line to show counting in tens |
from: :
|
10 to 50 |
|
|
|
|
: I want to buy 50 grapes.
I Are there enough?
60 to 100 :
|
|
|
: Explain your answer.
________________________ ]
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